C:h Finding Missing Side L ength of Rectangle with Fractions Name:

Find thevalue of X for each figure. Each figureisin centimeters(cm). Not to scale. Answers
9 2 5
D aea= /3 cm’ 2 aea= /5 CM’ ) aea= 72q CY .
} 1/8 X
' 2,
T F3/7 NG + 5/6%F =
3.
4.
5.
1 6 4
Y aea= 10 CM° ® aea= 754 CY % aea= /10 cm’ 5
1/5 X =
' 7.
X+ =+ 3/6F ¥ T TA5
8.
' X 9.
10.
1 36 5
) aea= /1o cm’ ® aea= /g3 cm’ 9 aea= /40 cM’ "
. . X
12.
= x1/2 = =6/7 5/8% =
12 8 64
19 sea= /36 CM° D aea= /g0 CM° 1) aea=%, 100 CM°
X i i
3/4% + = =X = *£8/10
’ 2/10 X
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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C:h Finding Missing Side Length of Rectangle with Fractions Name: Answer Key

Find thevalue of X for each figure. Each figureisin centimeters(cm). Not to scale. Answers
9 2 5
D aea= /3 cm’ 2 aea= 55 CmM’ ) aea= 72q CY . y .
} 1/8 X
I T 2
2, 7
T F3/7 X+ i 5/6% = 1
3. 4
)I( t y 1
4. 2
2
5. 4
1 6 4
Y aea= 10 CM° ® aea= 754 CY % aea= /10 cm’ 5 y i
1/5 X L
. . y 1
7. 6
X+ 3 3/6= = T F4/5 6
8. 9
; t : 1
X 9. 5
4
10. 9
1 36 5 4
) aea= /1o cm’ ® aea= /g3 cm’ 9 aea= /40 cM’ " 5
i } X g
12. /. 10
= x1/2 = =6/7 5/8% =
X X ’
12 8 64
19 yea= /36 cm’ 1 aea= 750 cm’ 12 aea=% 100 €M’
X i i
3/4% + = =X = *£8/10
’ 2/10 X
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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